<0 0y, > (M)

<op/p. > (%)

Ratio

X

N

.........

2|4

TP n (PCA to beamline)

-1 0 1 2 3

X

N

0—3

< d cot(B) >
o
[
[6)]

0.05]

-0.05

..........

..........

Y

-0.15F 1 SR ERRE R B 11 B L RPN
Eoel 0 AL I
9~ 0:2t ¢ : ; ; i
T F : ; 3 Y
x 154 #1 : 1 11 4
4 f

|
e

-1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT _original_lowpt
—e— DQM_TT_newbranch_lowpt_pLess

—+— DQM_TT_newbranch_lowpt_pLessMVACand

N
(@)

20

{’r’+?’H+'*++*”§*f“*“’*'§’"“+*‘+*+'§*'f+++++++#- - ﬂ -

1
4 1

. o
s
e
#+
.

|
w

-2 L
TP n (PCA to beamline)

[T T T LTI T I T T[T

..............................................

..............................................

TTTTITTTT

-1 0 1 2 3

Jl———
|
A

TP n (PCA- to beamline)

o 1 2 3

.........

............................................

A ILALILALY ILALLILE LI L L L L O L

- o
o

|4
I i ] ]
1 -‘.- - 4 HE - - - 4

T [ 1441 TF 4

o

-1 0 1 2 3
TP n (PCA to beamline)

-2



	Contents
	Page 1


